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Directions (1-5): Study the following information carefully and answer the questions given below.
Ruferfem e w1 s steae e sie = g e e & s e

Eight persons sit around a circular table in such a way that all of them face towards the table. Three persons

sit between P and R who sits immediate right of K. Q neither sits adjacent to R nor adjacent to P. N faces M
who doesn’t sit adjacent to R. L sits 3rd to the left of S.
S AT T FATHIT AT o AT AT 6 TR 96 3 1o 3T T T T@ T 0l A2 g1 P T R, ST K 3 & 2

JoT ¢, 1= i AT 95 g1 Q 7 a7 R & M 927 g i 7 g7 P % ee 927 81 N &7 7@ M, ST R & a9
Tel 95T, AT L, S F a1 7 HaY w19 9T 3T )

Q1. Who among the following sits immediate left of L?
fFrafafea & 319 L % s ad So1 872

(@M

(b)Q

(0K

(d) P

(e)N

Q2. How many persons sit between Q and M when counted from right of M?
M ¥ T3 & 9 9 Q 3 M & #ex I AARe 45 82
(a) Three / q19
(b) Two /=T
(c) One / T=
(d) Four /=X A
(e) More than four / =TT & sAfere®
BANK

Q3. Who among the following faces K? M AHAPACK PLUS
o 2
Feraferfer & fveer g K T 9 &2 For IBPS, SBI, SIDBI, RBI

(2) Q Grade B, +5 More
(b) P

(9L
(d)S

(e) None of these / Z7H & Fls A5l
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Q4. If all the persons are arranged according to alphabetical order in clockwise direction starting
from K, then position of how many persons remain unchanged except K?

IfT K & W #3q gC ot =afeat & <fErormed fRar & auiqas F aqamr saftag Far smar g, st K#
BsHe Fohae safea it Rufa safatda wdt 8?

(a) None / &< 7gT

(b) Two / &1

(c) One / T=

(d) Three / =

(e) Four / =TT

Q5. What is the position of M with respect to Q?
Q F v H M T TITH FAT §?

(a) Immediate right / 3t a0

(b) 2nd to the right / 3TT & AT

(c) 2nd to the left / &0 & FAIT

(d) 3rd to the left / 1T & dfrE=T

(e) 31 to the right / =TT & Ffi&<T

Directions (6-10): Study the following information carefully and answer the questions given below.

Rt sl w1 samgEs® sreras fiforg sk A= R 1w v F s v

Eight persons R, Q, M, O, P, T, S and N live on eight different floors of a building (but not necessarily in the
same order) such that bottommost floor is numbered as 1 and the floor just above it is numbered as 2 and
so on till the topmost floor is numbered as 8.

Four persons live between M and R who lives on an even numbered floor. One person lives between M and
N. T lives just below P and above Q. Number of persons live between S and P is same as live between S and
0. T doesn’t live on even numbered floor. At least two persons live above P.

AT R, Q, M, O, P, T, S &t N UF THIXT &l S AT-3AT HISTAT T Y& 8, (AThd ST&Ll dgl 1o ol
T g ST o Tae A= aTetl HioTel #hl HeAT 1 3T 3Heh 15 ST 0l HISTS i HEAT 2 3 THT a¥g Tad 9
HISTe T §eaT 8 2

M 3fi¥ R, ST U T3 HEAT ATAT HIoTl 9 LT 8, o HeT AT A T<h Tgd & | M 3T N & &= U =<k @argl T, P
& 3T 1 AT Q F FUT TgdT g1 S 3T P o 1= Tgo aTel SAThAT ol H&AT S ST O % 1= L@+ aTel A <ha | il HET]
F GHT g1 T 99 9&q7 a7l ot 9¥ Ag1 waT gl P % HU< F7 ° HF T 1<k <ad 8l

Q6. Who among the following lives on 6t floor?
fRefafea & & w7 =6 wioer T ar g2

(a)M

(b)P

(R

(d)S

(e)Q
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Q7. How many persons live between O and T?

0 3fiX T % we fohar e WwWa 87
(a) None / &1 98T

(b) Two /&1

(c) One /TH

(d) Three / §=

(e) More than three / &+ & stfers

Q8. Who among the following lives on the topmost floor?
Ruffea & ¥ 19 ge9 S8 w5 1< w@ar 82

(a)o

(b)R

(c)M

(dN

(e)S

Q9. Who among the following lives exactly between Q and M?

fFRaffea & @ :19 Q 3k M & 3% = § war g?
(a)R
(b)S

(c) P
(d) N
(e)T

Q10. Four of the following five are alike in a certain way and thus forms a group, who among the
following doesn’t belong to that group?

Fafofag o= d 8 9 & AT €78 99 §, 8} <8 TR 0% 998 9914 8, Aafafeaa § 9 59 59 a9g
q HAMAT Tt &7

(@0

(b) R

(P
(d)sS

(e)Q

Directions (11-15): Study the following series carefully and answer the questions given below.

Rufafea s w1 samgEs srera fforg sk = R o vt F s v
5824%82#1947%42&28@864!3490

Q11. How many numbers are there which are immediately followed by a symbol and immediately
preceded by an even number?

Y frat deard €, e St 912 T Tt ik St a8 UF 99 g1 87
(a) One /U=

(b) Two / =¥

(c) More than four / 9T & fer®

(d) Three / 1=

(e) Four / =ATX
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Q12. Which of the following element is 10th to the right of 5t element from the left end of the series?
Fafofea § & 19 91 7@ @ F 97 FR T 54 T & & & 1047 g2

(a) 2

(b) 4

(c)*
(d)&

(e)7

Q13. What will be the sum of the number which is 8t from the left end and the number which is 6th
from the right end of the series?

I AT T AT AT ST ST STT ST & ST & ST ST AT J@elT % 20 GIK F T3 82

(a) 16

(b) 15

(c)17

(d) 19

(e) 20

Q14. How many even numbers are there which are immediately followed by an odd number?
(a) One / TH

(b) Four / =T

(c) Three / &

(d) Two /=T

(e) Five / ai=

Q15. How many 4s are there in the above series?
STUH F@aT H fhaw 4 §2

(a) Two / &¥

(b) Three / =

(c) Four /=TX

(d) Five / 9=

(e) Six / &&

Directions (16-20): Study the following information carefully and answer the questions given
below.

Fafofag Sl w1 samgEs e g s = fow g st & s dfvm)

In a certain code language: - T& fAfara e HTHT "

“Daily walk is good” is coded as “ li og im ka”

“Good exercise daily” is coded as “sx og li”

“Daily long walk” is coded as “gl ka li”

“Daily walk is good” #T “ li og im ka” 3 &9 # FHfeq a7 74T B
“Good exercise daily” #T “sx og li” & =9 # FHfeq AT 7 31
“Daily long walk” #T 'gl ka li” % &9 & gblr?,cl ERIRIE ]
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Q16. What is the code for the word “ Good”?
'Good' T8 F R FE FATE?

() li

(b) im

(c) og

(d) ka

(e) Can’t be determined / ferTfa AT o= ST FhaT

Q17. What is the code for the word “Long”?
“Long” % & g Fe wAT®?

(@) li

(b) gl

(c) ka

(d) Either gl orka / a7 dT gl AT ka

(e) Eitherliorgl /a1 arli AT gl

Q18. Which of the following word is coded as “im”?
FRafofea & & fFa a2 & im" & =7 § giea R mar g?
(a) Good

(b) Exercise

(c) Daily

(d) Long

(e)Is

Q19. What is the code for the word “Daily Long”?
“Daily Long” T3 % (T Fie T 57

(a) sxgl

(b) im ka

(c) glog

(d) lika

(e)ligl

Q20. If “Girl is Good” is coded as “ im og lg”, then what is the code for “Girl”?

Ife "Girl is Good" T "im og Ig" F &9 ¥ Ffeq faaT strar &, ar "Girl" % g Fe = gem?
(a)lg

(b) og

(c) im

(d) li

(e) Can’t be determined / f&rTfa AgT o= ST FhaT
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Q21. If we form a five-letter meaningful word with 314, 6th, 8th 9th and 12th]etter from the left end of
the word “"RELATIONSHIP”, then what would be the third letter of that meaningful word? If no
meaningful word is formed, then mark the answer as X. If more than one meaningful word is formed
then, mark the answer as Z.

af< gH as8 “RELATIONSHIP” % 914 BIX & Y, |3, 31e4, A1d X qTgd ST & T ST&r| &1 TH Tqut
% FATA §, AT S TAYVT 53 FT AT &AL AT GIIT? TTS I, ATAF 95 Al IAAT &, AT SALCHI X FETH
R fiftrw aft ©= 9 fEs ards a5 997 §, T ST H Z F &0 § FHiema fivw

a)P

of

(N

(d) X

(e)Z

Directions (22-26): Study the following information carefully and answer the questions given
below.

Rt sl w1 samgEs sregas fiforg sk = e o e F s difvm

Seven Persons A, B, C, D, E, F and G go to the market in seven different day of week starting from Sunday to
Saturday but not necessarily in the same order. C goes to market one of the days after Wednesday. Two
persons go between C and G who goes just after B. One person goes between E and F. Number of persons
goes after F is same as number of persons goes before D.

aTq A A, B, C, D, E, F 3T G Taa & AfHaTE % HHT8 & H1d AoRT-3TT (&A1 § SIS ST g, ST ohel STt
Tel T =T 7 | gl C T & a2 el U T arsI1e St gl &7 i<k C 3 G, ST B & 31 918 Sar g, %
= T 81 U =E E 3T F % 1= S1aT 81 F 3 978 ST J7er AR i §eqT 3a+1 gl g foradt o D & Iger
ST ATl SEIT T HE&AT 5

Q22. Who among the following goes to market on Monday?

fFRefafed § & S AR S R S1ar 872
(a) B
(b) A
(c)G
(A E
(e) F

Q23. How many persons go between D and C?

D 3 C & 7 foha=r =af=e o1 &2
(a) None / &1 981

(b) One /U=

(c) Two / &¥

(d) Three / 1=

(e) Four / =ATX
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Q24. Which of the following combination is true?
Ruffea & & FI9 a1 999 97 82

(a) F- Thursday / F- =X

(b) D- Monday / D- HTHETE

(c) A- Wednesday / A- 9941

(d) C- Saturday / C- arf9aT®

(e) E- Tuesday / E- HITqATX

Q25. G goes market on which of the following day?
G Feforfea & & v R s sTar @2

(a) Thursday / 24T
(b) Wednesday / 9441
(c) Monday / FHATE
(d) Friday / <[HatX

(e) Tuesday / HITAATT

Q26. If all the persons are arranged in alphabetical order from Sunday to Saturday, then the
position of how many persons will remain unchanged?

gfe WA & afver o asft safxegt & qurigaa & afFaa f&ar smar g, aF e safeat & fufa sofafda
e

(a) One / T

(b) Two / &T

(c) Four /=TX

(d) None / #Ts 7&1

(e) Three / T

Directions (27-28): In each of the questions some statements are given below followed by two
conclusions. You have to take the given statements to be true even if they seem to be at variance
with commonly known facts. Read all the conclusions and then decide which of the given
conclusions logically follows from the given statements disregarding commonly known facts.

TAF T H FF I A1 ¢ 7 §, i 39 a12 Y Ao fw 1w 1 sroehr fRw 10 91 F 9e7 AT R, A
o F gasTa a0 F 4 W<l gra gl ot Aewwt wr afgw i) e o fifsg f& e 1o fFeeat & & #19 ar
e amT €7 & 719 Tt fi arg e e R T weEt w adE € 8 sqac #7ar gl

Q27. Statements / FI: Only K is U. Some K are P. No P is R.
Fa K, Ul 5 K, P &1 &1 P, R7&l 1

Conclusions / fA%4: I. No R is U.

#E R, U 721 &1
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II. Some K is not R.

39 K, RTET &1

(a) If only conclusion I follows.

7% et Aoy | FgEr F:3am gl

(b) If only conclusion II follows.

T et Moy 11 ST F2aT gl

(c) If either conclusion I or II follows.

7t 77 7 fAwd | =7 || SIgaeT w2 gl

(d) If neither conclusion I nor II follows.

T 7 a7 R | 3 7 &1 | STTHT F2ar gl

(e) If both conclusions I and II follows.

Tfe Aoy | e || TT ST 2 &

Q28. Statements / ¥ Only a few Teeth are Pick. Some Pick are Drop. All Drop are Water.
Fao T o, o 81 5 e, i 81 asfy gt arex )
Conclusions / fA5%4: I. Some Pick are Water.

T fuw, arex 2|

IL. All teeth can be Pick.

ot v, foe g1 ahd 2|

(a) If only conclusion I follows.

T2 haet oy [ SATE0T FaT g

(b) If only conclusion II follows.

7T Faer Ao 11 a0 HLaT &

(c) If either conclusion I or II follows.

T2 AT AT Ty 1 AT 1 ST F2aT g

(d) If neither conclusion I nor II follows.

T T a1 Ao 1 3f 7 &1 11 SATa<0r HLal gl

(e) If both conclusions I and II follows.

T oy [ 3 11 T SATEL0T il &

Q29. How many pairs of letters are there in the word ‘EXPECTED’, each of which have as many letters
between them in the word as they have in English alphabetical series (both forward and backward
direction)?

9153 'EXPECTED' ® 31431 & UH fohad 0/ ¢, ™EH & Tous & i 3a+ af 947 & oraq & sust aomsmen
F@AT § (3R 3T dreg AT (R9Tmet §) 872

(a) One /U=

(b) Three / &=

(c) None / ®Ts &1

(d) Two /=T

(e) Four / =ATX
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Directions (30-31): Study the following information carefully and answer the questions given
below.

Fafofag S w1 samgEes g v six A= g g wt & s difvm)

There are six members in a family of three generation with two married couple. S is son-in-law of Z who is
father of P. R is mother of C who is granddaughter of Y. P is unmarried member of the family. Number of

females are more than male members.

T fiftai s Rar A TaRa S Faregg a9 81 S, Z TP #1 fuar g, #M IR 81 R, C, ST Y #if
qIlt g, T A7aT g1 P afame &7 stfaaried 9ae g1 TRUI il qodT H AigaATsl i H&aT Afah gl

Q30. How is P related to C?
P, C & Toh e T Hafed 872
(a) Sister / S8

(b) Brother / €TE

(c) Uncle / 3rheT

(d) Aunt / =T=T /5 /ATHT
(e) Father / foar

Q31. How is Y related to S?

Y, S & e wehTe Hafera g7

(a) Mother-in-law / 919

(b) Mother / 9T

(c) Sister / a5

(d) Aunt / =T=T /ST /ATHT

(e) Sister-in-law / ez s &1t

Q32. If in the number “5389264863", all the digits are arranged in descending order from left to right,
then what will be the sum of the numbers which are 5t from the left end and 4t from the right end of the
number thus formed after rearrangement?

TfT FeaT "5389264863" H, T Siwhi &l ATU & I(T GGl HH H AAAT (HIT 1T &, AT TH Th1T [THTET
F TS TS TS H9eaT § 39 GCATA T TIRT FAT T ST 970 BT F T4t 8, 3 S 270 g & =3t g 2

(a) 10

(b) 12

(c)9

(d)8

(e) 11
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Directions (33-37): Study the following information carefully and answer the questions given
below.

Rt e w1 eamgE® stega ffrg s = g 1wt & s dfifsmw

Six persons sit around an equilateral triangular table in such a way that three of them sit at the corner of
the table and three of them sit at the middle of the side of the table and all of them face towards the table.
Each of them likes six different colors i.e., Pink, Red, Blue, Black, Green and Yellow but not necessarily in
the same order.

R sits 2nd to the left of P who likes Red. The one who likes pink faces R. Q sits neither adjacent to P nor
adjacent to R. The one who likes Black faces the one who likes Yellow. U sits immediate right of one who
likes Yellow. The one who likes blue sits 2nd to the right of S. The one who likes Green doesn'’t sit at the
corner of the table. T is one of the persons.

T ST T AHATE PSR 4 F A1 G T T A5 2 P I & A A 6 A 0 S §, oA I A
HST T 99T & AT | 95 3, 3% 39 a1 &7 & 7 il 3T gl STH & TAF 6l g A- T W THG § JAq7q
TATET, AT, AT, FTAT, BT AL AT AT AT Tt 6T 77 | 2T

R, P, fST8 @11 31 99E 8, % aT0 | L TATH I 93T | ag <k (578 [ATS [ 7 T8¢ § 3961 & R AT AT g1 QT ar
P % ST 93T § 3T T &1 R o STE I27 g1 FTAT W THE FH qTel T @ AT W1 THE FH a1l A 1<h 0l A gl U,
AT 7 THE FA AT o 31 13 ST g T8 S T<h [oTH AT T THE & a8 S o T4 F THY T 9¥ I27 g1 L0 41
TEHE e ATAT S (<h HT o I T Agl 93T gl T <Rl H 8§ UF ¢

Q33. Who among the following faces P?

fFeffRa A a a7 P Far@e?

(@)Q

(b) The one who likes Yellow / a8 =tk o/ 91T 41 99= 8l
(c) The one who likes Blue / ag =t<h S/ {11 41 99= Bl
(d)S

(e)T

Q34. T likes which of the following color?
T# fAeffaa @ Raar T oEeg?

(a) Black / =1t

(b)Yellow / fi=T

(c) Pink / T[@ATET

(d) Green /3T

(e) Blue / =T

Q35. What is the position of T with respect to S?
SH g~ # T &I T FT 82

(a) Immediate right / 3% aT0

(b) Immediate left / 315 aT0

(c) 3rd to the left / &T0 & fr&=T

(d) 2nd to the right / 3TT & AT

(e) 27 to the left / T & AT
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Q36. Which of the following color is liked by U?
fafafed & & w7 a1 T U A 62 82

(a) Pink / IgTet

(b) Green / 211

() Blue / T

(d) None of these / T7H & FI< AG!

(e) Black / =1t

Q37. How many persons sit between S and R when counted from right of S?

S % T q e 9 S Sk R & wew Fohan salRe 43 82
(a) None / #T< 7g1

(b) One /U=

(c) Two / &T

(d) Three / §=

(e) Four /=TT

Directions (38-40): Study the following information carefully and answer the questions given
below.

Rt sl w1 seamgEs sregas fiforg st = e o e F s v

A person starts walking towards east direction from a Point G. After walking 8m he reaches at Point M he
takes a left turn and walks 10m to reach at Point S. From Point S, he takes a right turn and walks 12m and
reaches at Point Q. From there, he takes two consecutive right turns of 10m and 6m to reach at Point C and
Point K respectively. Finally, he reaches at Point A after walking 4m left from Point K.

U A<k g G & T@ e it 3T FT 9% a1 g1 8 Hiex Fo % 7% 9g (9§ M 9¢ 9g+aT g, dgoTd H a8
T4 q=q1 8 37 f&g S v ug=+ & w10 Hiex soar 21 &g S &, a8 310 H=aT g, =¥ 12 #Hiex =«ar ¢ #iX
g Q T Ug=ar 81 A=l | a8 FA: &g C ¥ f&6g K 9% 9g= & forw 10 Hiex ${i¥ 6 Hie & forw a7 a1 7 ma
T AT 2| 3T |, g {63 K & 4 Hiex arft s =7 & ars foag A 9% 9g=ar 2|

Q38. What is the direction of Point A with respect to Point G?
g G Fa=vi# g Aft Rear w82

(a) South / Zfeyor

(b) South-East / Zferor-qg

(c) South-West / Zfaror- afery

(d) North /37X

(e) East / ‘1??

Q39. What is the total distance covered by him from Point Q to Point A?
3 Q & &g A T 9% g0 a7 f T2 For L et 82

(a) 12m / 12 #Htex

(b) 14m / 14 H1ex

(c) 10m / 10 Htex

(d) 16m / 16 HiexX

(e) 20m / 20 Hiex
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Q40. If Point S is related to Point G in the same way Point Q is related to Point K, then which of the
following is related to Point A?

gfz fig S, fig G & St o wafaa §, v vr g Q, g K & wafea &, ar fwr 9 & 9= g A o gsifaa
g7

(a) PointC/ﬁ'g’C

(b) Point M / [Hg M

(c) PointG/ﬁ'g’G

(d) Point K / g K

(e) Point S / &g S

Directions (41-46): What will come in the place of question (?) mark in following number series:

Ruftea e gear d w1 R (2) % S g argn?

Q41.32,16,16,32,?,1024
(a) 136
(b) 128
(c) 132
(d) 148
(e) 112

Q42.144,288,864,7,17280, 103680
(a) 3456
(b) 3446
(c) 3448
(d) 3436
(e) 3416

Q43.120,125,115,130,7,135

(a) 105
(b) 130
(c) 120 A
(d) 110 BANK
90
(e) MAHAPACK PLUS
Q44.223,227,236,252,277,? For IBPS, SBI, SIDBI, RBI
(a) 309 Grade B, +5 More
(b) 311
(c) 313 :
(d) 315 Selection Ka Saathi
(e) 317
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Q45. 60, 71,93, 126, ?, 225
(a) 200
(b) 185
(c) 190
(d) 180
(e) 170

Q46.9,17,7,108, 233 ,449
(a) 48
(b) 44
(c) 42
(d) 36
(e) 54

Directions (47-58): What will come in the place of question (?) mark in the following question:

Rt deaT sEer & w1 e (2) F T a =T argE?

Q47. 108 x 2.5 =7 453
(a) 165
(b) 125
(c) 115
(d) 135
(e) 145

Q48. 23:;i of 50% of200 =?

(a) 1170
(b) 2380
(c) 2340
(d) 2360
(e) 2320

Q49. /2401 ++/12.96 =2

(a) 11.5
(b) 6.5
()75
(d) 8.5
(e)9.5

Q50. 22X 1= =7-1
(@3
(b) 4
(c) 2
(d)1
(e)5
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Q51. 25% of ?% of 80=560
(a) 2800
(b) 2400
(c) 2960
(d) 3000
(e) 3600

Q52. 37 7% of 240 + 1429 1400 =?

(a) 290
(b) 310
(c) 320
(d) 300
(e) 280

Q53. 55% of 600 — 40% of 200 = 7°x 10
(a) 8
(b) 5
(@9
(d) 4
(e)3

Q54. V1331 + 961 — 5%+27 = 420+ 4

(a) 86
(b) 84
(c) 88
(d) 98
(e) 78

Q55. 80% of ~of 300 =72—4

(a) 6
(b) 14
(c)8
(d)12
(e) 10

Q56. 125% of Zth of of 2800 =?

(a) 4000
(b) 2400
(c) 1600
(d) 2000
() 3000
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] : 11 _

(a) 4
(b) 5.8
()6
(d)8
(e) 10.2

Q58. 4440+80+180+36=?
(a) 72.5
(b) 60.5
(c) 70.5
(d) 58.5
(e) 64.5

Directions (59-63): Table given below shows number of employees recruited in three different
company in four different years. Read the following table carefully and answer the questions given
below.

1= < TS qIICRT AT STAT-STAT T A AT STAT-SAAT hATAAT H FAT ThT T FHIATIAT T G&IqT Q1T gl
fFaferfea arfersr 1 eamgEs srege FifSrg i A= R g et & S difsm)

Years/d | Company/ | Company/ Company/
L] HUr A FUsr B F91 C
2017 500 400 500

2018 200 700 700

2019 850 200 400

2020 140 120 250

Q59. Find the ratio of number of employees recruited in company B in 2019 to number of employees
recruited in company Cin 2017?

2019 F FIAT B & sfT FHATRAT it GATFHT 2017 F FIAT C F WAT FHATIIAT T FG&IT & ATATT AT HITOIC?
(a) 1:2

(b) 1:3

(c) 5:7

(d) 1:1

(e)5:6
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Q60. Total number of employees recruited in company B in 2018 is what percentage of number of
employees recruited in company A in 2020?

2018 ¥ Ut B & T FhT 1T FHAATRAT it T T&AT, 2020 H FA1 A | Wt g 7@ FH=ma i g7 1
T wfrera 872

(a) 500%

(b) 250%

(c) 600%

(d) 400%

(e) None of these / ZH & &Ts A&l

Q61. Find total number of employees recruited in company A in given four years?
R g arayt & Fait A 7§ wdff g 7o w=Rat i $o dear 71 i

(a) 1580

(b) 1240

(c) 1640

(d) 1690

(e) 1680

Q62. Find the average number of employees recruited in company A, B and Cin 2017?
2017 ¥ 94T A, B 3i¥ C § wfT frw ro =R it siraa deat sia fifmg?

(a) 468 75

(b) 466 %4

(c) 466 %4

(d) 476 %

(e) 464%;

Q63. What is the difference between number of employees recruited in company Cin 2017 & 2018
together and number of employees recruited in company B in 2019 & 2020 together?

2017 3fT 2018 & T AT HYAT C H AT T FHATIAT el G&AT T 2019 3T 2020 F TF I FIT B F AAT
g o FH=TRAT it d@aT  ft= v siax A g?

(a) 580

(b) 680

(c) 520

(d) 560

(e) 540

Q64. Train A having length 150 meter crosses a pole in 30 seconds. If the length of train B is 3 35 %

more than train A and it crosses the same pole in 50 second, then find the ratio of speed of train A
to that of train B?

150 HEX AN ITATHF @ FT 30 TS H IR FAT Gl AR A BRI FATC STAT 3333% afeF g, ik ag s

FT 50 Tohe | I FIAT 8, AT T A Y T 7 37 B it 1 & Sqama A1 Fora?
(a) 5:4
(b) 5:6
(c) 6:5
(d) 4:5
(e) 1:3
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Q65. A man took a loan of Rs.20000 from a bank at the rate of X% p.a. on simple interest. If after
three years he had to pay Rs.7200 as interest, then find the value of X?

T S 7 ATETOT ST I X% Ty it X T TF 9% T 20000 TG FT 707 form| Iie 9 99 978 39 AT F
T H 7200 T9F T I, AT X HT AT G HIT9C?

(a) 8%

(b) 10%

(c) 20%

(d) 15%

(e) 12%

Q66. P buys an old bike for Rs.7200 and spends Rs.1200 on its repairing. If P sells the bike at
Rs.12000, then find the (approx.) profit % he earned?

P & qRIT AT &l 7200 T9 § O34T &, 3 T T0HT 9% 1200 F93 @ 34T gl I« P I5F FH 12000
O AT &, TV SHb ST AT ATHYp (FETHT) AT Hforg?

(a) 40%

(b) 28%

(c) 36%

(d) 43%

(e) 48%

Q67. Pipe A, pipe B and pipe C alone can fill a tank in 2 hours, 4 hours and 5 hours respectively. If
all the pipes are open together in the tank, then in how much time all three pipes will take to fill the
tank?

TS A, ITET B ST UTST C 37 T & T FH: 2 He, 4 9 3T 5 9 & X a1 I &6 & Foft a1 7 amr
G g, AT A1 12T & it 9L | e qo e

(a) 19 hours / 19 5

(b) 2% hours / 2 ﬁ He

(c) 40/19 hours/ 40/19 =<
(d) 20/19 hours / 20/19 =<
(e) 1 hours / 1 &2T

Q68. The present age of A and B is the in ratio of 5:6 respectively. Ten years hence, the ratio of ages
of A to B will be 7:8. Find the present age of A?

A ST B Y FAATT S FHL: 5 1 6 F ATATT A 31 T AW 91, A FT B FY Y F ST 7 : 8 TR A it TAAT 1Y
FTq hifore?

(a) 45 years / 459

(b) 15 years / 15 a9

(c) 25 years / 25 a9

(d) 35 years / 35 a9

(e) 30 years / 30 A
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Q69. Vessel A contains 150 liters mixture of milk and water in the ratio 7:8 respectively, while
vessel B contains 50 liters of mixture of water and milk in the ratio 3:7 respectively. If vessel A and
B mixed in an empty vessel C, then find the quantity of water in vessel C?

FAT A H 150 AT TH ST IT=T FT {07 FH7ST: 7 : 8 F ATUTT F §, STk T B 50 1< o7 & qreit < gor
T AT sFwen: 3 1 7 F AT W 81 IR T4 A S B F UF @Al S C H AATAT SA1av §, A e C F gt iy
HTAT ATT HIorA?

(a) 95 liters / 95 &fTex

(b) 85 liters / 85 fe<

(c) 105 liters / 105 #fTe<

(d) 75 liters / 75 #fex

(e) 115 liters / 115 =¥

Q70. Circumference of a circle is 44 cm and breadth of a rectangle 100/7 % more than radius of the
circle. If Perimeter of rectangle is 96 cm, then find the area of rectangle?

T 90 6t IR 44 AT 8, 3 Ta etraq i =TS I &t B=ar & 100/7 % afeew 31 af< a1 aRAT™ 96
THT g, T AT T A6 AT hi T2

(a) 320 cm? / 320 HHT?

(b) 270 cm? / 270 &2

(c) 300 cm? / 300 &2

(d) 360 cm? / 360 &2

(e) 480 cm? / 480 HHT?

Directions (71-75): Each question consists of two equations I & II. You have to solve each equation
and mark answer as per instructions.

TAF T | Q¥ GHIHTT, [ 3T 11 g ATThT TAH THIHLUT hl A AT g, SN AN & SgaR S 1 =feaa a1
gl

Q71.
| x> +5x+6=0

l.y*+7y+12=0

(a)x>y
(b)x<y
(c) x = y or no relation can be established / T FIs Hag TATMOT A5l AT ST TFAT S,
(d)x<y
(e)x2y

Q72.

.2x* +5x—3=0

I.3y* -2y —1=0

(@) x>y

(b)x<y

(c) x = y or no relation can be established / 3T &I Hael T A5l 3T T THAT S,
(d)x<y

(e)x2y
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Q73.

. 2x + 3y =7

II.dx — 3y =5

(@) x>y

(b)x=<y

(c) x = y or no relation can be established / 3T #T< Faer T A5l 63T T THAT S,
(dx<y

(e)x=2y

Q74.

l.x*—13x+42=0

ll.y* —17y+72=0

(@) x>y

(b)x<y

(c) x = y or no relation can be established / ZIT FI< Hael £ H@WWW%’,
(d)x<y

(e)x=y

Q75.

Lx*+6x+8 =0

Iy + 10y +24 =0

(@) x>y

(b)x<y

(c) x =y or no relation can be established / 3T &I Hael TATTUT A5l AT ST THAT &,
(d)x<y

(e)x=zy

Q76. P and Q started a business. P invest Rs.5000 for whole year and Q invested Rs.8000 for some
time. If at the end of the year profit share of P is Rs.10000 out of total profit of Rs. 22000, then find
for how many months Q invested?

P 3T Q ¥ T% a9 = 4T P W a¥ F forw 5000 T03 &7 {aer fwm sk Q & = o917 & forg 8000 79
w7 Aaer faam afe 9 & siq § 22000 €04 F FF ATTH & P F7 a1 FET 10000 T4 g, AT Hiog fFH Q
g wgiai & forg fAaer foRam?

(a) 12

(b) 6

(c)9
(d)7

(e)8
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Q77. A alone can finish a work in 90 days and B is 20% less efficient than A. Find in how many days
A and B working together can finish the same work?

A FHAT T F1 T 90 AT # T FT a7 €, T B, A & 20% F7 TAA g1 AT Fiorg 3 A 3 B T 909 F197
0 ) FE A P R & A e 87

(a) 10

(b) 40

(c) 62

(d) 72

(e) 50

Q78. The ratio of speed of boat in still water to speed of stream is 7:4. If boat travelled 156 km in
upstream in 26 hours, then find the difference between speed of boat in still water and speed of
stream?

T ST H AT 2 T /T ST T T AT 7 2 4 81 AR A7 26 = H o7 F TiAger 156 et F amam st
&, AV ST T § A7 st ITf S &y it i 3 = 1 stq< Ara Hrforar?

(a) 3 km/h / 3 foHT/5=T

(b) 2 km/h / 2 f&ft /==t

(c) 4 km/h / 4 Tfy/=raT

(d) 6 km/h / 6 ToHT/=eT

(e) 8 km/h / 8 ToHT/=eT

Q79. There are ten students in a tuition and the average age of all the students is 25 years. When
the age of teacher is included, then the average age increased by 2 years. Find the age of teacher?

e S & 7 g §, e asfr gt i st g 25 ¥ {1 T+ fRrers A sy A oA B Sran €, Yy s sy
# 2 ¢ it gfE grt |1 Freren it sy st oz

(a) 47 years / 47 a9

(b) 45 years / 45 a9

(c) 37 years / 37 a9

(d) 42 years / 42 a9

(e) 44 years / 44 T4

Q80. The income of a man increased by Rs.8000 each month. If his income in June is Rs.15000 and
he spend 70% of his income in September, then find the saving of man in September?

T AT HT 3T H LA 8000 T3 FY I g1 IR 7 H ITH 31T 15000 93 ¢, X a8 e & sraeit s
T 70% @ FLAT @, AT fAda< & sl it a=rq 17 Fforg?

(a) Rs. 8100 / 8100 =7

(b) Rs. 11700 / 11700 &9

(c) Rs. 5500 / 5500 &9

(d) Rs. 12600 / 12600 1%

(e) Rs. 15200 / 15200 &9
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Solutions

$1. Ans.(b)

Sol. Three persons sit between P and R who sits immediate right of K. Q neither sits adjacent to R nor
adjacent to P. There are two possible cases as: -

R R
K K
Q Q
P P
N faces M who doesn’t sit adjacent to R. So, N will sit immediate right of R as there are no two opposite
places left for placing N and M according to the given condition.

R R
K N K
Q Q
M
p p M
L sits 3rd to the left of S. Here, Case 2 is eliminated as there is no place left for placing L and S as per the
given condition.

L
p M
Thus, the final arrangement is: -
R
K
Q S
L
p M

Q sits immediate left of L.
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S2. Ans.(d)
Sol. Three persons sit between P and R who sits immediate right of K. Q neither sits adjacent to R nor
adjacent to P. There are two possible cases as: -

R R
K K
Q Q
P P
N faces M who doesn’t sit adjacent to R. So, N will sit immediate right of R as there are no two opposite
places left for placing N and M according to the given condition.

R R
K N K
Q Q
M
p p M
L sits 3rd to the left of S. Here, Case 2 is eliminated as there is no place left for placing L and S as per the
given condition.

R
K
Q S
L
p M
Thus, the final arrangement is: -
R
K
Q S
L
p M

Four persons sit between Q and M when counted from right of M.
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$3. Ans.(c)
Sol. Three persons sit between P and R who sits immediate right of K. Q neither sits adjacent to R nor
adjacent to P. There are two possible cases as: -

R R
K K
Q Q
P P
N faces M who doesn’t sit adjacent to R. So, N will sit immediate right of R as there are no two opposite
places left for placing N and M according to the given condition.

R R
K N K
Q Q
M
p p M
L sits 3rd to the left of S. Here, Case 2 is eliminated as there is no place left for placing L and S as per the
given condition.

R
K
Q S
L
p M
Thus, the final arrangement is: -
R
K
Q S
L
p M
L faces K.
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$4. Ans.(b)
Sol. Three persons sit between P and R who sits immediate right of K. Q neither sits adjacent to R nor
adjacent to P. There are two possible cases as: -

R R
K K
Q Q
P P
N faces M who doesn’t sit adjacent to R. So, N will sit immediate right of R as there are no two opposite
places left for placing N and M according to the given condition.

R R
K N K
Q Q
M
p p M
L sits 3rd to the left of S. Here, Case 2 is eliminated as there is no place left for placing L and S as per the
given condition.

R
K
Q S
L
M
P
Thus, the final arrangement is: -
R

K

p M
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Two persons i.e.,, M and Q remain at same position.

S5. Ans.(e)
Sol. Three persons sit between P and R who sits immediate right of K. Q neither sits adjacent to R nor
adjacent to P. There are two possible cases as: -

R R
K K
Q {Casé 2) Q
P P

N faces M who doesn’t sit adjacent to R. So, N will sit immediate right of R as there are no two opposite
places left for placing N and M according to the given condition.

R R
K N
Q Q
M
P p M
L sits 3rd to the left of S. Here, Case 2 is eliminated as there is no place left for placing L and S as per the
given condition.

R
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Thus, the final arrangement is: -

R

P

K

M

M sits 34 to the right of Q.

Sol. Four persons live between M and R who lives on an even numbered floor. There are three possible

S6. Ans.(d)
cases as: -
Floors | Persons | Persons | Persons
[Case 1) | [Case 2) | (Case 3)
8 R
7 M
6 R
5
4
3 M
2 R
1 M

One person lives between M and N. Here, one more possibility comes from case 2. T lives just below P and
above Q.T doesn’t live on even numbered floor. Here CaseZ2 is ruled out as no place left for T according to

the given condition.

Floors | Persons | Persens | Persons Persons
[Casel) | {Gase2} | (Case 3) | (Case 2a)
8 B P R
A
7 M T
: _ BANK
T MAHAPACK PLUS
7 : v ¥ For IBPS, SBI, SIDBI, RBI
Grade B, +5 More
3 T .2 N M
2 R Q/ Q/
1 Q M N Selection Ka Saathi
26 I adda247.com/defence | www.sscadda.com www.bankersadda.com | www.adda247.com


http://adda247.com/defence
http://www.sscadda.com/
http://www.bankersadda.com/
http://www.adda247.com/
https://www.adda247.com/product-onlineliveclasses/11351/bank-maha-pack-plus-for-ibps-sbi-sidbi-rbi-grade-b-sebi-grade-a-nabard-grade-a-and-other-grade-a-grade-b-bank-exams?examCategory=bank-maha-pack&productId=11600

Number of persons live between S and P is same as live between S and O. Here, Case 2a is eliminated as
there is no place left to place O and S according to the given condition. At least two persons live above P, so
Case 3 is also eliminated as not satisfying the given condition.

Floors | Persons | Persens | Persens
(Casel) | {Cased} | {Gasedajy

8 0 B R

7 M T

6 5 R P

5 N s T

4 P ] 8

3 T M e

2 e 7Q

1 Q M M

Thus, the final arrangement is: -

Floors | Persons
8 0
7 M
6 5
5 N
4 P
3 T
2 R
1 Q

S lives on 6t floor.

S$7. Ans.(e)
Sol. Four persons live between M and R who lives on an even numbered floor. There are three possible
cases as: -

Floors | Persons | Persons | Persons
{Case 1) | [(Case 2) | (Case 3)
8 R
7 M
6 R
5
4
3 M
2 R
1 M
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One person lives between M and N. Here, one more possibility comes from case 2. T lives just below P and
above Q.T doesn’t live on even numbered floor. Here CaseZ is ruled out as no place left for T according to
the given condition.

Floors | Persons | Persens | Persons Persons
(Case 1) | fGase 2} | [Case3) | (Case 2a)
8 R P R
7 M T
6 R
5 N M Q/ T
4 P Q/ Q/
3 T M N M
2 R Q/ Q/
1 Q M N

Number of persons live between S and P is same as live between S and O. Here, Case 2a is eliminated as
there is no place left to place O and S according to the given condition. At least two persons live above P, so
Case 3 is also eliminated as not satisfying the given condition.

Floors | Persons | Persens | Persens
(Casel) | {Case3} | {Caseda}

8 P R

7 M T

6 S R B

5 N s T

4 P g9 8

3 T N M

2 R 4] 8

1 Q M N

Thus, the final arrangement is: -

Floors | Persons

8

7 M
6 5
5 N
4 P
3 T
2 R
1 Q

Four persons (M, S, N, P) live between O and T.
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$8. Ans.(a)

Sol. Four persons live between M and R who lives on an even numbered floor. There are three possible
cases as: -

Floors | Persons | Persons | Persons
{Case 1) | [Case 2} | (Case 3)
8 R
7 M
6 R
5
4
3 M
2 R
1 M

One person lives between M and N. Here, one more possibility comes from case 2. T lives just below P and
above Q.T doesn’t live on even numbered floor. Here Case?2 is ruled out as no place left for T according to

the given condition.

Floors | Persons | Persens | Persons Persons
[Case 1) | {Gase 2} | [Case 3) | ([Case 2a)
8 R P R
7 M T
6 R
5 N N Q/ T
4 P Q/ Q/
3 T M N M
2 R Q/ Q/
1 Q M N

Number of persons live between S and P is same as live between S and O. Here, Case 2a is eliminated as
there is no place left to place O and S according to the given condition. At least two persons live above P, so
Case 3 is also eliminated as not satisfying the given condition.

Floors | Persons | Persens | Persens
(Casel) | {Gase3} | {CaseZa}

3 0 B R

7 M T

& R B

5 N g T

4 P 9 +9

3 T N M

2 R e =

1 Q M N

Thus, the final arrangement is: -

29

I adda247.com/defence www.sscadda.com www.bankersadda.com www.adda247.com



http://adda247.com/defence
http://www.sscadda.com/
http://www.bankersadda.com/
http://www.adda247.com/

Floors | Persons

8

7 M
6 5
5 N
4 P
3 T
2 R
1 Q

O lives on the topmost floor.

$9. Ans.(c)
Sol. Four persons live between M and R who lives on an even numbered floor. There are three possible
cases as: -

Persons
(Case 3)

Persons | Persons
[Case 1) | (Case2)
8 R

Floors

7 M

1 M

One person lives between M and N. Here, one more possibility comes from case 2. T lives just below P and
above Q.T doesn’t live on even numbered floor. Here Case?2 is ruled out as no place left for T according to
the given condition.

Floors | Persons | Persens | Persons Persons
[(Case 1) | fEase2} | (Case 3) | (Case 2a)
8 R P R
7 M T
6 R
5 N B Q/ T
4 P Q/ Q/
3 T M M M
2 R Q/ Q/
1 Q M N
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Number of persons live between S and P is same as live between S and O. Here, Case 2a is eliminated as
there is no place left to place O and S according to the given condition. At least two persons live above P, so
Case 3 is also eliminated as not satisfying the given condition.

Floors | Persons | Persens | Persens
(Case1) | {Case3) | (Case2a)

8 0 B R

7 M T

6 5 R B

5 N s T

4 P 9 8

3 T M M

2 R 4] +6

1 Q M N

Thus, the final arrangement is: -

Floors | Persons

8

7 M
6 5
5 N
4 P
3 T
2 R
1 Q

P lives exactly between Q and M.

$10. Ans.(e)
Sol. Four persons live between M and R who lives on an even numbered floor. There are three possible
cases as: -

Floors | Persons | Persons | Persons
[Case 1) | [Case 2) [ (Case 3)
8 R
7 M
6 R
5
4
3 M
2 R
1 M
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One person lives between M and N. Here, one more possibility comes from case 2. T lives just below P and
above Q.T doesn’t live on even numbered floor. Here CaseZ is ruled out as no place left for T according to

the given condition.

Floors | Persons | Persens | Persons Persons
(Case 1) | fCase 2} | [Case 3) | (Case 2a)
8 R P R
7 M T
6 R
5 N M Q/ T
4 P Q/ Q/
3 T M N M
2 R Q/ Q/
1 Q M N

Number of persons live between S and P is same as live between S and O. Here, Case 2a is eliminated as
there is no place left to place O and S according to the given condition. At least two persons live above P, so
Case 3 is also eliminated as not satisfying the given condition.

Floors | Persons | Persens | Persons
(Case1) | {Case3) | {Case2a)

8 B R

7 M T

6 5 R B

5 N 3 T

4 P g9 18

3 T M M

2 R ] 18

1 Q M N

Thus, the final arrangement is: -

Floors | Persons

8

7 M
6 5
5 N
4 P
3 T
2 R
1 Q

All the persons given in the options live on an even numbered floor except Q who lives on an odd numbered
floor.
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S$11. Ans.(c)
Sol. There are six numbers (24%, 82#, 47*, 42&, 28@, 64!).

$12. Ans.(a)
Sol. 5th element from the left end = %
and 10t element to the right of % = 2

$13. Ans.(b)

Sol. Number which is 8th from the left end = 9

And the number which is 6t from the right end = 6
Thus, the sum of 9 + 6 = 15

S$14. Ans.(d)
Sol. There are two even number (47, 49)
$15. Ans.(d)
Sol. There are five 4s in the series.
$16. Ans.(c)
Sol.
Words Symbols
Daily li
Walk ka
Is im
Good Og
Exercise Sx
Long gl
$17. Ans.(b)
Sol.
Words Symbols
Daily li
Walk ka
Is im
Good Og
Exercise Sx
Long gl
$18. Ans.(e)
Sol.
Words Symbols
Daily li
Walk ka
Is im
Good Og
Exercise Sx
Long gl
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$19. Ans.(e)
Sol.

Words Symbols
Daily li
Walk ka
Is im
Good Og
Exercise Sx
Long gl
$20. Ans.(a)
Sol.
Words Symbols
Daily li
Walk ka
Is im
Good Og
Exercise Sx
Long gl
$21. Ans.(d)

Sol. 3rd, 6th) 8th 9th gand 12th Jetters are L, I, N, S and P respectively.
Thus, no meaningful word can be formed.

$22. Ans.(a)

Sol. C goes to market one of the days after Wednesday. Two persons go between C and G who goes just
after B. There are three Possible cases as: -

Days Persons | Persons | Persons
(Case 1) | (Case 2) | (Case 3)
Sunday B
Monday G B
Tuesday G B
Wednesday G
Thursday C
Friday C
Saturday C

One person goes between E and F. Here, Case 3 is ruled out as no place
left for E and F according to the given conditions, so: -

A

BANK

Days Persons | Persons | Persens MAHAPACK PLUS
(Case 1) | (Case Z) | fCase 3}

Sunday B For IBPS, SBI, SIDBI, RBI
Monday G B Grade B, +5 More
Tuesday G B

Wednesday E/F G

Thursday C E/F

Friday E/F c Selection Ka Saathi
Saturday E/F £
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Number of persons goes after F is same as number of persons goes before D. Here, Case 1 is ruled out as
there is no place left for D as per the given condition. Hence, D will go on Sunday in Case 2: -

Days Persens | Persons

fEase 1} | (Case 2)
Sunday B D
Monday & B
Tuesday G

Wednesday =k

Thursday £ E
Friday =—F C
Saturday F

We know A is one of the persons and only one place is left thus the final arrangement is: -

Days

Persons

Sunday

Monday

Tuesday

Wednesday

Thursday

Friday

Saturday

el Il =N [ =Rl

B goes market on Monday.

$23. Ans.(e)

Sol. C goes to market one of the days after Wednesday. Two persons go between C and G who goes just

after B. There are three Possible cases as: -

Days Persons | Persons | Persons
(Case 1) | (Case 2) | (Case 3)
Sunday B
Monday G B
Tuesday G B
Wednesday G
Thursday C
Friday C
Saturday C

One person goes between E and F. Here, Case 3 is ruled out as no place left for E and F according to the

given conditions, so: -

Days Persons | Persons | Persens
(Casel) | (Casel) | {Gase 3}
Sunday B
Monday G B
Tuesday G B
Wednesday E/F &
Thursday C E/F
Friday E/F C
Saturday E/F £

Number of persons goes after F is same as number of persons goes before D. Here, Case 1 is ruled out as
there is no place left for D as per the given condition. Hence, D will go on Sunday in Case 2: -
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Days Persens | Persons

fCase 1} | (Case 2)
Sunday B D
Monday & B
Tuesday G

Wednesday =k

Thursday £ E
Friday = C
Saturday F

We know A is one of the persons and only one place is left thus the final arrangement is: -

Days Persons
Sunday D
Monday B
Tuesday G

Wednesday A
Thursday E

Friday C

Saturday F

Four persons go between D and C.

$24. Ans.(c)

Sol. C goes to market one of the days after Wednesday. Two persons go between C and G who goes just

after B. There are three Possible cases as: -

Days Persons | Persons | Persons
(Case 1) | (Case 2) | (Case 3)
Sunday B
Monday G B
Tuesday G B
Wednesday G
Thursday C
Friday C
Saturday C

One person goes between E and F. Here, Case 3 is ruled out as no place left for E and F according to the

given conditions, so: -

Days Persons | Persons | Persens
(Case 1) | (Case 2) | fGase 3}
Sunday B
Monday G B
Tuesday G B
Wednesday E/F G
Thursday C E/F
Friday E/F C
Saturday E/F £

Number of persons goes after F is same as number of persons goes before D. Here, Case 1 is ruled out as

there is no place left for D as per the given condition. Hence, D will go on Sunday in Case 2: -
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Days Persens | Persons

fCase 1} | (Case 2)
Sunday B D
Monday & B
Tuesday G

Wednesday =k

Thursday £ E
Friday = C
Saturday F

We know A is one of the persons and only one place is left thus the final arrangement is: -

Days Persons
Sunday D
Monday B
Tuesday G

Wednesday A
Thursday E

Friday C

Saturday F

A- Wednesday is correct combination.

$25. Ans.(e)

Sol. C goes to market one of the days after Wednesday. Two persons go between C and G who goes just

after B. There are three Possible cases as: -

Days Persons | Persons | Persons
(Case 1) | (Case 2) | (Case 3)
Sunday B
Monday G B
Tuesday G B
Wednesday G
Thursday C
Friday C
Saturday C

One person goes between E and F. Here, Case 3 is ruled out as no place left for E and F according to the

given conditions, so: -

Days Persons | Persons | Persens
(Case 1) | (Case 2) | fGase 3}
Sunday B
Monday G B
Tuesday G B
Wednesday E/F G
Thursday C E/F
Friday E/F C
Saturday E/F £

Number of persons goes after F is same as number of persons goes before D. Here, Case 1 is ruled out as

there is no place left for D as per the given condition. Hence, D will go on Sunday in Case 2: -
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Days Persens | Persons

fCase 1} | (Case 2)
Sunday B D
Monday & B
Tuesday G

Wednesday =k

Thursday £ E
Friday = C
Saturday F

We know A is one of the persons and only one place is left thus the final arrangement is: -

Days Persons
Sunday D
Monday B
Tuesday G

Wednesday A
Thursday E

Friday C

Saturday F

G goes market on Tuesday.

$26. Ans.(b)

Sol. C goes to market one of the days after Wednesday. Two persons go between C and G who goes just

after B. There are three Possible cases as: -

Days Persons | Persons | Persons
(Case 1) | (Case 2) | (Case 3)
Sunday B
Monday G B
Tuesday G B
Wednesday G
Thursday C
Friday C
Saturday C

One person goes between E and F. Here, Case 3 is ruled out as no place left for E and F according to the

given conditions, so: -

Days Persons | Persons | Persens
(Case 1) | (Case 2) | fGase 3}
Sunday B
Monday G B
Tuesday G B
Wednesday E/F G
Thursday C E/F
Friday E/F C
Saturday E/F £

Number of persons goes after F is same as number of persons goes before D. Here, Case 1 is ruled out as

there is no place left for D as per the given condition. Hence, D will go on Sunday in Case 2: -
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Days Persens | Persons

fCase 1} | (Case 2)
Sunday B D
Monday & B
Tuesday G

Wednesday =k

Thursday £ E
Friday = C
Saturday F

We know A is one of the persons and only one place is left thus the final arrangement is: -

Days Persons
Sunday
Monday
Tuesday

Wednesday
Thursday
Friday
Saturday

(o || |o(m|a

Position of two persons remains Unchanged.

Days Persons | Alphabetical
Order
Sunday D A
Monday B B
Tuesday G C
Wednesday A D
Thursday E E
Friday C F
Saturday F G
S$27.Ans.(e)

Sol. I. Follows - Because U is only related to K, so relation of U with any other elements is not possible.
II. Follows- No P is R and Some K are P thus the part of P which is K cannot be R.

$28. Ans.(a)
Sol. . Follows- Because Some Drop are Pick and all Drops are Water so it is clear that some Pick are Water.
II. Not Follows- Because it is given that Only a few Teeth are Pick, so all Teeth cannot be Pick even in
possibilities.

QRE
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$29. Ans.(b)
Sol. There are three pairs,

M
E)fPEC'[' D

$30. Ans.(d)
Sol. S is son-in-law of Z who is father of P. P is unmarried member of the family.

Z )

+HS— P

R is mother of C who is granddaughter of Y. So, here we have two cases:

Casel Case 2
Y Y
R(-) (+}J=R(-)
Co Co

After combining the above diagrams Y will be wife of Z and R will be the daughter of Z as the family is of
three generation with two married couple. So, case 2 gets eliminated here.
Casel

() Y=Z®)

(+) S—R(—P

(-)

Number of females are more than male members, so P will be a female member thus the final arrangement

is: -
() Y=—Z7()

(t)S—RO—P®H

(-

P is aunt of C.
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S$31. Ans.(a)
Sol. S is son-in-law of Z who is father of P. P is unmarried member of the family.

7 (+)

+HS= ()P

R is mother of C who is granddaughter of Y. So, here we have two cases:

Casel Case 2
Y Y
R(-) (+)J=R(-)
Ce) Co

After combining the above diagrams Y will be wife of Z and R will be the daughter of Z as the family is of
three generation with two married couple. So, case 2 gets eliminated here.

Casel ase 2
() Y=Z()
(+ R(-)
(+) S—R(—P
-]
(-)

Number of females are more than male members, so P will be a female member thus the final arrangement

is: -
() Y=—Z)

(+)S—R—P)

(-)
Y is Mother-in-law of S.

$32. Ans.(a)

Sol. Given Number- 5389264863

Number after arranged in descending order from left to right = 9886654332
5th digit from left end = 6 and 4t digit from right end = 4

Thus, the sum of 6 + 4 = 10.

41 I adda247.com/defence | www.sscadda.com | www.bankersadda.com www.adda247.com



http://adda247.com/defence
http://www.sscadda.com/
http://www.bankersadda.com/
http://www.adda247.com/

$33. Ans.(c)
Sol. R sits 2nd to the left of P who likes Red. The one who likes pink faces R. There are two possible cases as
P may sit at the middle of the side of the table or at the corner of the table: -

R
R
(Case 1) (Case Z)
l
|

P (Pink) (Red)P
(Red) (Pink)

Q sits neither adjacent to P nor adjacent to R. The one who likes Black faces the one who likes Yellow. U sits
immediate right of one who likes Yellow.

U R
R Q (Yellow)
(Case 1)
]
| (Red)P | Q (Yellow)
(Black) P (Pink) .
(Red) (Pink)
The one who likes blue sits 2nd to the right of S.
(Blue)
R Yell
Q (Yellow) (Blue)
(Case 1)
5 (Red)P é Q (Yellow)
(Black) P (Pink)
(Red) (Pink)

The one who likes Green doesn'’t sit at the corner of the table, so case 2 is ruled out as there is no place left

at the middle of the side of the table for the one who likes Green.
(Blue) R

(Black)

(Green) R Q (Yellow) (Blue)

S (Red)P J; Q (Yellow)

1
I
(Black) Ef; (Pink) (Pink)
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T is one of the persons, so the final arrangement is: -

(Blue)
U
(Greenm)R Q (Yellow)
|
T I S (Pink)
(Black) P
(Red)

P faces the one who likes Blue.

$34. Ans.(a)
Sol. R sits 2nd to the left of P who likes Red. The one who likes pink faces R. There are two possible cases as
P may sit at the middle of the side of the table or at the corner of the table: -

R
R
(Case 1) (Case 2)
1
P (Pink) (Red)P !
(Red) (Pink)

Q sits neither adjacent to P nor adjacent to R. The one who likes Black faces the one who likes Yellow. U sits
immediate right of one who likes Yellow.

U R
R Q (Yellow)
(Case 1)
1
| (Red)P | Q (vellow)
(Black) ﬂgd) (Pink) (Pink)

The one who likes blue sits 2nd to the right of S.
(Blue)

R Q (Yellow) (Blue)
ue
(Case 1)
l
| ) (Red)P’ g Q (vellow)
(Black) P (Pink)
(Red) (Pink)
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The one who likes Green doesn’t sit at the corner of the table, so case 2 is ruled out as there is no place left
at the middle of the side of the table for the one who likes Green.

(Blue) R

(Black)
(Green) R (Blue)

(Case 1)

1
[ S (Red)P L Q (vellow)
(Black) { [f; & (Pink) (Pink)
T is one of the persons, so the final arrangement is: -
(Blue)
U
(Greem R Q (Yellow)
|
T I S (Pink)
(Black) P
(Red)

T likes Black color.

$35. Ans.(e)
Sol. R sits 2 to the left of P who likes Red. The one who likes pink faces R. There are two possible cases as
P may sit at the middle of the side of the table or at the corner of the table: -

R
R
(Case 1) (Case 2)
l
I

P (Pink) (Red)P
(Red) (Pink)

Q sits neither adjacent to P nor adjacent to R. The one who likes Black faces the one who likes Yellow. U sits
immediate right of one who likes Yellow.

U R

R Q (Yellow) (Black) G
(Case 1) (Case 5)

1 |
| (Red)P |

(Black) P (Pink) ’
(Red) (Pink)

Q (Yellow)
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The one who likes blue sits 21d to the right of S.

(Blue)
R Q (Yellow) (Blue)
ue

(Case 1)
1
I S {RE[[]P é Q (Yellow)

(Black) P (Pink)
(Red) (Pink)

The one who likes Green doesn’t sit at the corner of the table, so case 2 is ruled out as there is no place left
at the middle of the side of the table for the one who likes Green.

(Blue) R

(Green) R (Black)

Q (Yellow) (Blue)

(Case 1)

| =S (Red)P & Q (Yellow)
(Black) { [ﬂ O (Pink) (Pink)

T is one of the persons, so the final arrangement is: -
(Blue)
U

(Green)R Q (Yellow)
1

T | S (Pink)
(Black) P
(Red)

T sits 2nd to the left of S.

$36. Ans.(c)
Sol. R sits 2 to the left of P who likes Red. The one who likes pink faces R. There are two possible cases as
P may sit at the middle of the side of the table or at the corner of the table: -

R
R
(Case 1) (Case 2)
i ]
P (Pink) (Red)P !
(Red) (Pink)
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Q sits neither adjacent to P nor adjacent to R. The one who likes Black faces the one who likes Yellow. U sits
immediate right of one who likes Yellow.

U
R Q (Yellow)
(Case 1)
1 1
| (Red)P | Q (vellow)
(Black) s (Pink) .
(Red) (Pink)
The one who likes blue sits 2nd to the right of S.
(Blue)
R Yell
Q (Yellow) (Blue)
(Case 1)
]
I 5 (Red)P é Q (vellow)
(Black) P (Pink)
(Red) (Pink)

The one who likes Green doesn'’t sit at the corner of the table, so case 2 is ruled out as there is no place left
at the middle of the side of the table for the one who likes Green.
(Blue) R

(Greem) R (Black)

Q (Yellow) (Blue)

(Case 1)

|
| S (Red)P L Q (vellow)
(Black) t ;E " (Pink) (Pink)
T is one of the persons, so the final arrangement is: - A

[Blue)
U

BANK
(Green)R MAHAPACK PLUS

Q (Yellow)
For IBPS, SBI, SIDBI, RBI
| Grade B, +5 More
T | S (Pink)
(Black) P ke
(Red) v

Selection Ka Saathi

U likes blue color.
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$37. Ans.(c)
Sol. R sits 2nd to the left of P who likes Red. The one who likes pink faces R. There are two possible cases as
P may sit at the middle of the side of the table or at the corner of the table: -

R
R
(Case 1) (Case 2)
1
P (Pink) (Red)P !
(Red) (Pink)

Q sits neither adjacent to P nor adjacent to R. The one who likes Black faces the one who likes Yellow. U sits
immediate right of one who likes Yellow.

U R
R Q (Yellow)
(Case 1)
(Red]P I Q (Yellow)
(Black) P (Pink) .
(Red) (Pink)
The one who likes blue sits 2nd to the right of S.
(Blue)

(Case 1)

[
[ S (Rea)P é Q (Yellow)

(Black) P (Pink)
(Red) (Pink)

The one who likes Green doesn’t sit at the corner of the table, so case 2 is ruled out as there is no place left
at the middle of the side of the table for the one who likes Green.
(Blue) R

(Black)
(Green) R (Blue)

(Case 1)

| S (Red)P !; Q (Yellow)

(Black) P (Pink)
(Red)

(Pink)

T is one of the persons, so the final arrangement is: -
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(Blue)
U

(GreenIR Q (Yellow)
|
T I S (Pink)
(Black) P
(Red)

Two persons sit between S and R when counted from right of S.

$38. Ans.(b)
Sol.
S 1Zm Q
10m
10m
8m K
G M em — C
4m
A
Point A is in South-East of Point G.
$39. Ans.(e)
Sol.
S 1Zm Q
10m
10m
8m K
G M em — C
4m

A

Total distance covered by him from Point Q to Point A is 20m (10m + 6m + 4m).
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S40. Ans.(a)

Sol.
5 12m 0Q
10m
10m
8m K C
| 6m
4m
A

The 1% Point in the given question is in North-East of 2" Point, thus Point C is related to Point A.

S41. Ans.(b)

Sol. Pattern of series —
32x0.5=16

16x1=16

16x2=32
?=32x4=128
128x8=1024

S42. Ans.(a)

Sol. Pattern of series —
144x2=288
288x3=864

?= 864x4=3456
3456x5=17280
17280x6=103680

S43. Ans.(d)

Sol. Pattern of series —
120+5=125
125-10=115
115+15=130

? =130-20=110
110+25=135

S44. Ans.(c)
Sol. Pattern of series —
223 + 2% =227
227 + 3% =236
236 + 4% = 252
252 + 5% =277
7= 277 + 6* =313
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$45. Ans.(e)

Sol. Pattern of series -
60+11=71

71+22=93

93+33=126
?7=126+44=170
170+55=225

$46. Ans.(b)

Sol.

9423=17
7=17 + 3% = 44
44 + 4% =108
108 + 5% =233
233 4 6% = 449

S$47. Ans.(e)
Sol. 270-125=?
7=145

$48. Ans.(c)
Sol.

$49. Ans.(d)
Sol. 4.9+3.6=?
7=8.5

$50. Ans.(b)

Sol.

18 21
—x—=7-1
7 " 18
3+1=7

4=7

S$51. Ans.(a)
Sol.

25 ?

—— X —— % 80 = 560
100 100

7= 2800
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$52. Ans.(a)

Sol.

=X 240 + =X 1400 =7

7=90+ 200
?7=290

$53. Ans.(b)

Sol.
330—80="7x 10
250=72x 10
7=5

$54. Ans.(c)
Sol. 11+31-25+7?=105
88 =7

$55. Ans.(e)
Sol.

2 % 2x300=7"—4
100 5

96 + 4 =77

72 =100

?7=10

$56. Ans.(d)

Sol.

125 4
—— x—x 2800 =7
100" 7
2000 =?

$57. Ans.(d)
Sol.8-22+22=7
7=8

$58. Ans.(b)
Sol. 55.5 + 5 =?
7=60.5

$59. Ans.(d)
Sol. Required ratio = 500 :500 =1 :1

$60. Ans.(a)
Sol.

Required percentage = E ¥ 100 = 5009%
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S61. Ans.(d)
Sol. Required sum = (500+200+850+140)=1690

$62. Ans.(c)
Sol.

500+400+500

Required average = 3

= 466>
3

$63. Ans.(a)
Sol. Required difference = (500+700)-(500+120)=580

S$64. Ans.(a)
Sol.

Length of train B =§ ¥ 150 = 200 meters

: ., _ 150 200
Required ratio = pralbeat 5:4

$65. Ans.(e)
Sol.

ATQ,
20000 xXx3

7200 =
100
7200x100 _

200003
X=12%

$66. Ans.(d)
Sol.

Total cost price of bike for P = Rs. (7200+1200) = Rs.8400
Given, selling price of bike = 12000 Rs.

Profit = 12000—8400 = Rs. 3600
500

Profitd% :Zm X 100 = 42.8504 ~ 4304

S$67. Ans.(d)
Sol.

Total capacity of a tank = L.C.M. (2, 4, 5]= 20 unit

Efficiency of pipe A = ? = 10 unit/hour

Efficiency of pipe B = ? = 5 unit/hour

Efficiency of pipe C = ? = 4 unit/hour
20

: . 20
Required time = = — hours
10+5+4 19
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$68. Ans.(c)

Sol.

Let the present age of A and B is 5x and 6x respectively.
Then

S5y +10 7

6x+10 8

40x +80=42x+70

2x =10

x=5

Presentage of A=5 % 5 =25 years

$69. Ans.(a)
Sol.

Quantity of milk in vessel A= 150 x ﬁ = 70 liters
Quantity of water in vessel A =150 — 70 = 80 liters
Quantity of milk in vessel B =50 X ﬁ = 35 liter

Quantity of water in vessel B =50 — 35 = 15 liters
Quantity of water in mixture C =80 + 15 = 95 liters

$70. Ans.(a)
Sol.
Let radius of the circle is r cm.
2mr=44
232
2% - =44
r=7cm

Breadth of rectangle = % X7 =8cm

Let the length of rectangle isl cm
ATQ,

2(length + Breadth) = 96

l+8=48

L =40cm

Area of rectangle = 40 X 8 = 320 cm?

S$71. Ans.(e)

Sol.
Lx*+3x+2x+6=0
®+2)(x+3)=0
x=-3 -2
ILy*+4y+3y+12=0
(v+4)(v+3)=0
y=-4-3
clearly, x = v
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$72. Ans.(c)

Sol.
L2x*+6x—x—3=0
(2x-1)(x+3)=0

1
x=-3,-
2

L3y —3y+y—1=0

(By+1)(y-1)=0
-_1y

y=—3

clearly, no relation

$73. Ans.(a)
Sol. from [ & II
x=2

y=1

clearly, x>y

S$74. Ans.(d)

Sol.
Lx?—7x—6x+42=0
x-7)(x-6)=0

x=6,7

I.y* —9y —8y+72=0
(y-9)(y-8)=0
¥y=89

clearly, x <y

$75. Ans.(e)

Sol.

Lx*+6x4+8 =10
x*+2x + 4x+8 =0
(x +4)(x+2) =0
x= —2,—4

ILy* + 10y +24 =0
¥+ 6y+4y+24 =0
(y+4)(y+6) =0
y = —4,-6

So,x = .

$76. Ans.(c)

Sol.
Let the amount invested by Q for “X" months
Ratio of profit sharing of Pto Q = 5000 x 12 : 8000 X X

15 : 2X

ATQ.

15 10000

2X 22000 — 10000
X=09
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S$77. Ans.(e)
Sol. A

Let the efficiency of A = 5 units/ day B ANK
So, efficiency of B=5 X B0 — 4 units /da
yotB > X a fday MAHAPACK PLUS
Required days = e 50 days
For IBPS, SBI, SIDBI, RBI
$78. Ans.(d) Grade B, +5 More
Sol. Let the speed of boat in still water & speed of stream be 7x km /hr
& 4x km/hr respectively. b’r
ATQ Selection Ka Saathi
1546 =26
Too—da
xr=2

Required difference = (7 x 2 -4 x 2) =14 -8 =6 km/hr

$79. Ans.(a)

Sol. Total age of all ten students= 25x10=250 years
Let age of teacher be X years

250+X=(25+2)x11

X=47 years

$80. Ans.(b)
Sol. ATQ

Income in September = 15000 + 8000 x 3 = 15000 + 24000 = Rs.39000

(100-70)
100

Saving of a man= 39000 x = Rs. 11700
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